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chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
cHXRSFII=E 41,8003 * 18 » 15 627
oNRRAY
7,838 * 1 * 20A12F * 128 1,882
oFFH 41,8003 = 1&¥ » 52 2,174
SRS Fals] 18,617,0002 = 3.0/100 559
o H & F I 400,000 = 23] 800
oz &l 80,000& = 1¥ = 12& 960
Jl23l 28,324 28,324 0
Jl2&l 28,324 28,324 0
201 L2l 22,684 22,684 0
01 At 22l 20,184 20,184 0
ORA2Y JI23Hl 250,000& = 123 3,000
OMREE FL(SAMA S) 200,000& * 128 2,400
OHFARII 22857
300,000& = 604 = 23l 3,600
Ode23 =) gtz 50,000& = 1CH » 123 600
Ozl 7,000 * 18 * 7 + 123 10,584
02 =224l 2,500 2,500 0
OfERI 2,500
202 odl 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
OHl&aZ28 2ol 1,440
203 YR =&l 4,200 4,200 0
04 RENSELRZ=LH 4,200 4,200 0
ORN2IYS =2 350,000& = 12& 4,200
HEES(ZMIH) 300,000 700,000 A 400,000
WEHAXS(ZMEHL) 300,000 700,000 A 400,000
WEHHX S (M) 300,000 700,000 A 400,000
701 JIEtl AN &S 300,000 700,000 400,000
01 JIEtsl HEES 300,000 700,000 A 400,000
Os3Hixd & 2l SEH dE= 300,000
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